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Choose the best item.
46. A policeman had……… recorded their conversation and they had no information about it.

1) secretly  2) politely 3) loudly 4) finally
47. I don’t ………. you ……… anything for this man.

1) promise / do 2) to promise / do 3) promise / to do  4) to promise / to do
48. There is even a golden coach. It’s about a foot long. Eight tiny horses pull it. According to these 
sentences ………

1) tiny horses are in the coach 2) small horses are about one foot long
3) only one horse can pull the coach 4) a golden coach is carried by eight small horses

49. When the weather is dark, we can hardly see………
1) nobody 2) nothing 3) something 4) anything

50. We didn’t want to hurt Mary’s feelings. We only couldn't stop student's …………
1) giggle 2) picnic 3) piece 4) muscle

51. These are the stories in………I am interested very much.
1) whom 2) which 3) where 4) who

52. This part of river is not very deep. The water reaches the children’s………
1) shoe 2) thumb 3) finger 4) waist

53. John has found a good job for himself because he has a good………of English and computer.
1) passage 2) knowledge 3) mountain 4) reward

54. You are really in……… There is only one ticket left.
1) reason 2) row 3) luck 4) puzzle

55. I saw my classmate, ………Mina, on………Sunday.
1) ___ , ___  2) the , ___ 3) the , the  4) ___  , the

56. After drinking cold water, suddenly I felt a………pain in my mouth.
1) sorry 2) lucky 3) polite 4) terrible
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Choose the best item to fill the blanks.
        My neighbor used to keep rabbits in his yard, but he treated them very badly – Rabbits should 
be…..(57)…..regularly, but these rabbits were very dirty, and the smell was really…..(58)….. worst of all, I 
noticed that the rabbits didn’t have…..(59)…..food to eat. When I complained to my neighbor, he said, “It’s 
none of your business. They are not your rabbits, they are…..(60)….., aren’t they?”
57. 1) changed 2) cleaned 3) laughed 4) eaten
58. 1) wise 2) polite 3) terrible 4) quiet
59. 1) enough 2) some 3) no 4) many
60. 1) yours 2) hers 3) his 4) mine
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